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QUESTION 1

What are valid WAN visibility modes of the Steelhead appliance? (Select 3)
A. Correct Addressing

B. Port Transparency

C. Full Addressing

D. Full Transparency

E. Transparency

Correct Answer: ABD

QUESTION 2

Application Streamlining supports which of the following protocols in the Steelhead appliance?
A. HTTP, FTP, MAPI, NFS

B. MAPI, CIFS, NFS v4

C. CIFS, RDP, MAPI, HTTP, SSL, Oracle, MAC-CIFS, ICA, UDP

D. HTTP, MAPI, NFS v3, CIFS, Lotus Notes, MS-SQL

Correct Answer: D

QUESTION 3

When implementing datastore synchronization, a master and backup Steelhead appliance:
1.

Must be within 10 ms of latency between the synchronizing Steelhead appliances

2.

Must have the same datastore size

3.

Must be running the same major version RiOS software

4,

Must have the same hostname

A.1,2,and 3
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B.2and3
C.2,3,and 4
D.3and 4
E.1,2 3 and 4

Correct Answer: A

QUESTION 4

With a server-side Interceptor deployment, once a TCP handshake has been completed between the server-side
SteelHead and the server, how will data packets sent from the server get forwarded to the server-side SteelHead?

A. Destination NAT is performed on the Interceptor, changing the destination IP adress from the client IP to the
SteelHead\\'s IP.

B. The server sees the IP address of the SteelHeads in-path interface as its client, so there is no need for the
Interceptor to forward it.

C. They are GRE-encapsulated by the Interceptor, and forwarded using the SteelHead IP.

D. The Interceptor tunnels them over the connection using port 7850 to the SteelHeads.

E. The Interceptor applies the MAC address of the SteelHead\\'s in-path interface and forwards at layer 2.

Correct Answer: A

Once the initial handshake is completed, the interceptor use destination NATs packets to the steelhead so you will not

see this traffic if you are filtering on the original client and server address. References:
https://splash.riverbed.com/thread/5512

QUESTION 5

When performing datastore synchronization between two Steelhead appliances, segments of data are exchanged
between them. Which interfaces can be used for datastore synchronization? (Select 2)

A. In-path
B. Primary
C. Auxiliary
D. WAN

E. Remote

Correct Answer: BC
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